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אטלס. לה מצאו כן, אם יריעה? היא M הקבוצה האם .1

.M = {(x, y) ∈ R2 : y2 − x2 = 0} א.

.M = {(x, y, z) ∈ R3 : 1− x2 − y2 = ב.{0

.M = {(x, y, z) ∈ R3 : xyz = 0} ג.

.M = {(x, y, z) ∈ R3 :
x2 + y2 + z2 − 1 = 0

y = 0
} ה.

.M = {(x, y, z) ∈ R3 :
x2 + z2 − 1 = 0

x = 0
} ו.

.M = {(x, y, z) ∈ R3 :
z − xy = 0

z = 0
} ז.

.M = {(x, y, z) ∈ R3 :
x2 + y2 + z2 − 9 = 0

x+ y + z = 0
} ח.

הקבוצה: a של ערכים אלו עבור .2

Ma = {(x, y, z) ∈ R3 :
x2 + y2 + z2 − 9 = 0

x+ y + z = a
}

אחרים? a ערכי עבור מקבלים מה יריעה? היא
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